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1.1 

(a) To the left (b) mA 300 100te  (c) 4.055 ms (d) 
2100 A/mm 3820.0 te  
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(f) 
1610860.1   

1.2 

(a) 10 µC  (b) 10 µC  (c) 12.71 mA 

1.3 

(a) 975 C  (b) 383 C 

1.4 

(a) 31.1 kC  (b) 48 W  (c) 373 kJ  (d) 24.9 W 

1.5 

8.0 C 

1.6 

(a)  8  (b)  7.3  

1.7 

5.5 V, 3.975 A 
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2.1 

8.0 C 

2.2 

(a) 120.8 V  (b) 8.453 kW (c) 754.0 W/mm2 

2.3 

(a) 10 V  (b) 5 A  (c) 50 W 

2.4 

(a) -3 A  (b) 3 V  (c) 15 W 

2.5 

(a) 2.5 A (b) 4 V 

2.6 

si
RRR

RR
v

321

31
3


  si

RRR

RR
i

321

32
1




  

2.7 

(a) 30 W (b) -2 A 
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3.1 

(a) -33 (b) 17, -34, -11 
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4.1 

6 A 
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5.1 

80 W 

5.2 

(a) 150 V  (b) 110 V 
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6.1 

(a) 15 A,   2   (b)  2  (c) 112.5 W 

6.2 

381 mW 
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9.1 

5.1 m 

9.2 

(a) N 109 17 , -18 Vm 109   (b) -18 Vm 1061.9  , N 1061.8 17  

9.3 

-18 Vm 101  towards the negative charge 

9.4 

-16 Vm 1089.1   
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10.1 

(a) rE ˆ
4 2

0r

q


 ,  r̂  points along a spherical radius 

(b) 0E   

(c) rE ˆ
2 0r


 ,   r̂  points along a cylindrical radius 

(d) rE ˆ
2 0


 ,   r̂  points perpendicularly to the plane 

10.2 

(e) No change. 

(f)  Between the plane and plate: rE ˆ
0


 , r̂  points perpendicularly to the 

plane; elsewhere: 0E  . 

10.3 

0E   
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11.1 

38.2 nV, 24.4 nV 

11.2 

1.2 MV 

11.3 

(a) 
r

q
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  

(b) rV ln
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  

(c) rV
02
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12.1 

d

A
C 0  

12.2 

(a) -16 Vm 10 , -26 Cm 1085.8  , 14.8 pF 

(b) -16 Vm 10 , -26 Cm 102.44  , 74.0 pF 

(c) -16 Vm 103 , -16 Vm 106.0  , -26 Cm 106.26  , 44.2 pF, no 

12.3 

(a) 
 12

0

ln

2

rr
lC r
  

(b) μF 01.1 , 44 kV, near inner conductor 

12.10 

(a) 9.6 V, 192 mW, 1.152 mJ (b) 16 V, 0 W, 3.20 mJ 

12.11 

(a) 2 nF  (b) 2.4 nF 

12.12 

(b) μF 
7

12
  (b) μF 

11

12
  (c) μF 9  
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14.1 

(a) 20.6 ms  (b) 177.7 ms 

14.2 

A 001.02 t , V 001.0/01.0 t  

14.3 

(a) V 10cos60 t   (b) A 10sin25 t  
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15.9 

a) x  b) x  c) y  d)  yxz   e) 0 f)  xwy   

15.10 

a)  CABBA   b) BCCA   c) CDA  d) CDBA  

15.11 

a) 1 b) ??? c) 1 d)   DCBA   

15.15 

 CBAT 1
, 

12 TT    




